
BOX SIDE SUPPORT 
HONDA CRF 450L 2019 

Ref.: 2AD089A195



M8

Assembly Sequence 
(Just for the Box Side Support) 

M8x85 

M10X1,25X40 

M8x85 

BOX SIDE SUPPORT 
HONDA CRF450L 2019

DATE: 03/06/2020ID.022.02

Ø20XØ9X62mm
M8

Ø20XØ9X62mm

Ø20XØ11X15mm

M10

M10X1,25X40 

M10

Ø20XØ11X15mm

• RIGHT SIDE:

• LEFT SIDE:

• RIGHT SIDE: • LEFT SIDE:

Ø20XØ9X30mm

• ATTENTION: When we have the set of Box Support  and Box Side 
Support, to assembly use the component Ø20xØ30x30mm in the 
acessory kit of the Box Side Support.   

7 Aluminum Bushing Ø20xØ11x62mm (Splatered Ø12x8mm) 2
6 Aluminum Bushing Ø20xØ9x30mm 2
5 Aluminum Bushing Ø20xØ11x15mm 2
4 Washer M10 - DIN 125 2
3 Large Washer M8 - DIN 9021 2
2 Hexagon Head Screw M10x1,25x40 - DIN 933 2
1 Hexagon Head Screw With Partial Thread M8x85 - DIN 931 2

ITEM Nº: COMPONENT: DESCRIPTION: QUANT.:
ACESSORIES


